(4)
Horizontal curve
∆ = 23° 18’
T = 295.39





PI = 50 + 53.87


Determine:
L, L.C., M.O., E, R, D and deflection angles at full stations


  ∆


  2  
= Deflection Angle/Ft

  L

11° 39’


582.5
= 0° 01’ 12” Deflection Angle/Ft
 

L = 582.5



  PI = 50+53.87


R = 1432.68



-           2+95.39

E = 30.13



=PC   47+58.34


M.O. = 29.51



+           5+82.50

L.C. = 576.61



  PT = 53+40.98


Da = 4°


Station
Deflection Angle

47+58.34
0° 00’ 00”


48+00.00
0° 49’ 59.52”


49+00

2° 49’ 59.52”


50+00

4° 49’ 59.52”


51+00

6° 49’ 59.52”


52+00

8° 49’ 59.52”


53+00

10° 49’ 59.52”


53+40.98
11° 39’ 10”
(5)
A tangent with bearing N 56° 48’ 20” E meets another tangent with bearing of N 40° 10’ 20” E at PI station 6 + 26.57.  The corresponding horizontal curve has a radius of 1000.00 feet.  

Determine:
D, T, L.C., L, M.O., E, P.C. and P.T. and deflection angles at full stations.


  ∆


  2  
= Deflection Angle/Ft

  L

8° 19’


290.31
= 0° 01’ 43.13” Deflection Angle/Feet
 

I = 16° 38’ 00”


 

D = 5° 43’ 46”





L = 290.31






T = 146.18






L.C. = 289.29






E = 10.63


M = 10.52


P.C. = 4+80.39


P.T. = 7+70.70


Station
Deflection Angle

4+80.39
0° 00’ 00”


5+00

0° 33’ 42.38”


6+00

3° 25’ 35.38”


7+00

6° 17’ 28.38”


7+70.70
8° 19’ 00”

(6)
Horizontal Curve
R = 400.00 feet





∆ = 66° - 18’ – 24”





PI = 48 + 25.32

Determine:
Deflection angles and distances from P.C. to stake full and + 50 stations.

  ∆


  2  
= Deflection Angle/Ft

  L

33° 09’ 12”


462.91
= 0° 04’ 18” Deflection Angle/Ft
 

T = 261.29



  P.I. = 48+25.32


L = 462.91



-             2+61.29






=P.C.   45+64.03







+             4+62.91






  P.T. = 50+26.94


Station
Deflection Angle
Distance

45+64.03
0° 00’ 00”

0.00


46+00

2° 34’ 40”

35.96


46+50

6° 09’ 40”

49.97


47+00

9° 44’ 40”

49.97


47+50

13° 19’ 40”

49.97


48+00

16° 54’ 40”

49.97


48+50

20° 29’ 40”

49.97



49+00

24° 04’ 40”

49.97

49+50

27° 39’ 40”

49.97


50+00

31° 14’ 40”

49.97


50+26.94
33° 10’ 30”

26.94

(7)
Compound Curve
PI = 12 + 87.93




∆ = 98° 32’ 54” 





R1 = 300.00 





∆1 = 62° 18’ 34”





R2 = 600.00


Determine:
P.C., P.C.C., P.T., T2

* Key in formula – R1 always refers to longest radius – Must switch terms

(1) Solve for T2 = R1 – R cos∆ - (R1 – R2) cos∆1
  SIN∆

(2)

P.I.


-           T2


=
P.C.

(3)

P.C.


-
L1


=
P.C.C.

(4)

P.C.C.


+
L2


=
P.T.  
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